ares

RECTANGLE

| X W

PARALLELOGRAM
b X h
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Remember
x tx=_)x

Xy x =x &

g Ihdices
X xP = x°o*h

e.d
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A Zlbxh
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1
~(a+b)h




Remember

x 0= |

Onything to the power of zero = |

Ihdices
x % + X.b — x.ax-b

e yb + xdA = x4



CIRCUMFERENCE -

T X dlameter

AREA

T X radius

C/'rC/eS

2




FOR RIGHT-ANGLED TRIANGLES
a2 + ph2 = 2

a xpythqgo,"qs
b

Trigonometry
sin @ = 2
hyp %,

/O L%
ﬂm adj

opp




Trigonometry

/SIH\J|ZC[HN]|/TIAN

Some old horses can always hear their owners approach

o
qudr Fo mU\Q

—b+ Vb2 — 4ac
2a




Sine Rule

sin A B Sin B B SinC

a b C
Sine Rule
a b C

sin4dA sinB sin(C




Trigonometry

Cos O = adj
hyp o éJib
/N
LN ady

Trigonometry

0
tan § = 2EP

adj %,

/O\ S

opp

ﬂm adj



cosine RU\e

a’* = b%? + c* — 2bc CosA

cosine RU\e
b% + ¢* — a?
2bc

CosA ~



PYRAMID

; area of base X h




The mode appears most

often in a set of numbers

ed 0,390,059 93
Mode is (o Averqges

Ihdices
(xa)b = xoxb

e.d (16)2 = x A



PRISM

area of cross section
X length

Volume

NVolUME - v LINDER

_ 2
h =1mTr-h




distance
time

SPEED =

D

T Speed

mass

DENSITY = ————

M

D |V DehSity




PRESSURE - 77

F

-[2\| Pressure

The median is the midd|e
nhumber (SORT THEM FIRST)

ed 3 5, @, @, /, % q,
Median is Averqges



sin0° =0 sin90° =1
cos0° =1 cos90° =0

tan OO — O tan 90° = undefined

Exact ¢Trig” Values



Al‘eq Of

Q l’l"fqhg,e

. bSinC
=5 abSsin







